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201-171 2.1.0-719

Runtime (in hr) 2.87 2.84
Avg. Drain Rate 1.31K 1.87K
Peak Disk (GB) 71.7 71.27
Peak Memory (GB) 82322.89 70771.78
Avg. OPS 5.89K 5.89K

Avg. mem memcached (GB) 69592.18 69478.35
Avg. mem beam.smp (MB) 6724396.54 1285764.62

Avg. CPU rate (%) 29.64 29.05
Latency-get (90th) (ms) 1.28 1.3
Latency—get (95th) (ms) 1.47 1.5
Latency—get (99th) (ms) 2.24 2.31
Latency-set (90th) (ms) 1.33 14
Latency-set (95th) (ms) 1.5 1.58
Latency—set (99th) (ms) 2.19 241

Latency—query (80th) (ms) 7.76 8.5
Latency—query (90th) (ms) 9.04 9.56
Latency—query (95th) (ms) 11.5 11.98
Latency—query (99th) (ms) 96.22 81.73
Latency—query (99.9th) (ms) 712.44 972.58
Avg. QPS 612.56 612.62
Avg. XDC ops/sec NaN NaN
Avg. XDC docs to replicate NaN NaN
Rebalance Time (sec) 3047.71 2944.75
Testrunner Version 9382cc7 a6lddid
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Queries/sec
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ep queue size
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ns_server: ep_diskqueue_drain

° [} .;
¥ 5 ) R .
19.53K = K
‘: : ° . ° ;
PR R
* 8 o .
. ® . ° e .‘
U R
o 1465K- £ . cro
G b S T . “
'B . H 4
| H @ ° ¢ 1] . .
o) R PO B ’ buildinfo.version
= . ’ ’ .
% 2 L < o ¢ 2.0.1-171-rel-enterprise
% s“ ! ? e 2.1.0-719-rel-enterprise
5 :
- - S B
o 977K ¥ .
(O] . .
P .
. N N
- Ve R . Tptal number of items per second being
° .. written to disk in this bucket (from ns_server)
4.88K = ° :
° . S
0=

J U J ]
0 2500 5000 7500 10000

— 1] —_—
time (SEC) reb—vperf-10M-in.loop / 2.0.1-171-rel-enterprise / 2.1.0-719-rel-enterprise / 25 Jun 2013



ep—engine : ep_diskqueue_drain — 172.23.96.15

buildinfo.version
- 2.0.1-171-rel-enterprise
e 2.1.0-719-rel-enterprise

ptal number of items per second being
ritten to disk in this node (from ep-engine)

O - oo000® '-uo‘””’.’""” ... “ 30 o ®o00 .n.oo.:'
-5000=
k=
o
)
Q
S .
Q
>
O .
V4
R
-cl 10000
Q - .
(M)
‘ T
W
—15000 =
J U ] ]
40 80 120 160

—-———time (sec)———>

reb—vperf-10M-in.loop / 2.0.1-171-rel-enterprise / 2.1.0-719-rel-enterprise / 25 Jun 2013



ep_diskqueue_drain

ep—engine : ep_diskqueue_drain — 172.23.96.16
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vb_active eject/sec
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